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Candidates are required to give their answers in

1.  Answer any ten questions:

their own words as far as practicable.

2x10=20

-G vifS rsa Tea wie ¢

a)

b)

d)

State major objectives of fiscal policy.

AR Aifew 25 Sl ge o
What do you mean by public good?
A T A0 B (=2

Write two merits of direct tax.
AT FCIF Y10 AR @12 |

State two fiscal instruments that can be used to

increase effective demand of an economy.

i bifzwl Iiad o JaTe AP AIfod 76 2fafe

TELFA |
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g)

h)

i)

k)

D
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Mention the causes of market failure.
e Lo T TEd T4

Name two taxes from Union list and State list
of India.

SIRACSA (R G3R 67 Sl (2T 45 0 I
RIRRGEH

State the ability to pay principle of taxation.
9 emites AW AsfG 9o 71|

How can we measure the burden of public debt?
RPN AT @A Pl Al w1 022

State the features of an ideal tax system.

G ol 1 gl (Aol Srard 759 |

What do you mean by indirect tax?

AL T 600 F (R 2

What do you mean by externality?

3iferrel 2eT0e F @2

What is meant by 'free rider's problem' in public

finance?

ISR oL rER RARE) SRR Tl w00
W @le
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p)

Distinguish between horizontal and vertical

equity.

SISl QIR TFT WMol g s1LHT @74 |

Give an example of 'merit good' and mention

why is it called 'merit good'?

G0 ‘0 Tra Tnigge wie W3R & @fo s ‘@ o
T e 3 GEd 4|

What do you mean by progressive tax?
oAl 1 TETCe P (IR 2

Mention economic importance of deficit
budget.

955 ACEH TLAST Ole T 4 |

2.  Answer any four questions: 5%x4=20

@I orafo 2 Ted wie ¢

a)

b)
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Evaluate income as the basis of taxation.

9 e fofe 2ot S SR )|

Explain the incidence of taxation. Comment on

the share of tax burden to consumer:

T TE0O D (@R 2 (Fold Toid B @R 623
.

1)  when supply is perfectly elastic and

i sfef Fafogiom =1
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d)
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11)  when demand is relatively elastic than

supply.

o

Bfogiomel (A

D ICUEREISEARE R RRIRIGE
SIS

Do you think income tax involves double
taxation of savings? Clearly state the

assumptions and justify your answer.

SRR S AR CHAF (70 SIS T 2 S e
IR (IR CEE A2CH Y& 7l |

State the Coase Theorem. Briefly discuss how
Coasian burgain can solve the problem of

negative externality.

@FleE S [ge 391 @ifere wa-sasl
I oS JIRFFOR AP YH FACe A
A ST 9 |

Do you think loan financing by the government

shifts the burden towards future generation?

Ol I N F9 (@, AIFIN AT @RI SR ST
e «ifke 232

Why will unregulated markets supply less than

the optimum amount of public good?

& SfeRfEe e TR ATPIR T A S
AR QIR Fo AN T 22 2

[4]



3. Answer any two questions: 10x2=20

@I BB 2Aeea Ted 7l ¢

a)

b)

d)
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Discuss the limitations of a market economy
and discuss the role of government in this
context. 5+5
e Sgefes Hiwzs] SiCbal F1 G I8 e
ALPICS Qﬁl@] NIGIPRIREE

Discuss the condition for optimum provision
of public good.
FFIA BRI A G AL *1S A 4 |
Explain the Benefit Principle of taxation.
Discuss the limitations of this principle.

6+4
39 eIt < Aot 17 39 | 92 [feba Aol
S R |
What will be the effect on output level if the
government increases expenditure without
creating budget deficit? Will the effect remain
same if marginal propensities to consume are
different for tax payers and the recipients of
government expenditure?
et qiGle qfE 9 F@ A7 T3 I (oA,
TAME T S 2O 2T ? TS| G FIPIS
IR ARl @A ST (olsl &Ierel 72 2@
9. Gl (=1 A 2



